# Tamil Nadu Road Development Company Ltd. (TNRDC)

# Standard Fire and Special Perils Insurance Policy for Road, Bridges, Public Liability & Burglary for ECR project (Km: 22/300 to Km: 55/800) for one year

#### **TABLE OF CONTENTS**

- I. General Terms and Conditions
- II. Certificate in respect of Price Bid
- III. Certificate as regards to quoted rate
- IV. Price Bid
- V. Annexure

### **TNRDC**

#### Tamil Nadu Road Development Company Limited,

No.171, II Floor, Tamil Nadu Maritime Board Building, South Kesavaperumal Puram, Pasumpon Muthuramalingam Road, (Near Greenways Road MRTS Station), Raja Annamalai Puram, Chennai 600 028

**Phone:** 91-44-2495 2800 / 3800,

**Fax**: 91-44-2493 3800

E-Mail: <u>tenders@tnrdc.com</u>
Web : <u>www.tnrdc.com</u>

Dated :06.06.2022

#### Tender No.:TNRDC/CD/010/2022

Bids are invited by **M/s.Tamil Nadu Road Development Company Ltd. (TNRDC)** from Insurance Companies on 28.06.2022 upto 3.00 PM for arranging the following insurance policy.

Description	Base Premium amount per annum (Rs)	Period of Insurance
"Standard Fire and Special Perils Insurance Policy for Road, Bridges, Public Liability & Burglary for ECR project (Km: 22/300 to Km: 55/800) for one year"	19.68 Lakhs	12 months

Bid document can be obtained between 10.00 hrs and 17.00 hrs on all working days from 09.06.2022 to 27.06.2022 at the address for communication mentioned below on payment of Non-refundable fee of Rs.7,080/- (Rupees Seven Thousand Eighty Only) in the form of a Demand Draft drawn in favour of M/s.Tamil Nadu Road Development Company Ltd. (TNRDC) payable on any scheduled bank in Chennai. Alternatively, the Bid document can also be downloaded from the website <a href="www.tnrdc.com">www.tnrdc.com</a> and in such cases, the bidders will be required to pay the non-refundable fee as mentioned above, at the time of submission of Bids. The bids shall be submitted through Single Cover System.

Sealed bids should reach at the following address not later than **15.00 hrs on 28.06.2022** which will be opened on the same day at **15.30 Hrs.** 

#### Address for communication

#### **Chief General Manager**

M/s.Tamil Nadu Road Development Company Ltd.,

No.171, II Floor, Tamil Nadu Maritime Board Building,

South Kesavaperumal Puram,

Pasumpon Muthuramalingam Road,

(Near Greenways Road MRTS Station),

Raja Annamalai Puram, Chennai 600 028

**Phone:** 91-44-2495 2800 / 3800,

Fax: 91-44-2493 3800 E-Mail: tenders@tnrdc.com

Web: www.tnrdc.com

#### **GENERAL TERMS AND CONDITIONS**

#### 1 <u>Instructions to Bidders</u>

#### Submission of bid

The bids are to be submitted in sealed envelope super-scribed with the above bid document name and number, not later than 3:00 PM on 28th June 2022

TNRDC reserves the rights to announce L1 bidder only after scrutiny of the Bids submitted and should satisfy the Eligibility criteria for Technical Requirements.

The tender shall be addressed to the Officer inviting tender as indicated in the notice inviting tender. The Bids may be submitted to TNRDC Office in the above mentioned address not later than 03.00 PM on 28<sup>th</sup> June 2022 and the Bid shall be opened on the same date at 03.30 PM.

- The tenders received after the time prescribed for submission are liable to be rejected. Telephonic/email/fax offers shall not be entertained.
- Any Submission of Bid by FAX or email will not be accepted and shall be invalid.
- Bids which are late/vague/conditional/incomplete/not confirming to the laid down procedure in any respect will be rejected.
- Any submission of document/Bid/letter shall not be entertained after prescribed time of Bid submission.
- Bidder must fill up all the schedules and furnish all the required information as per the instructions given in various sections of the tender specification.
- Canvassing in any form in connection with the tender is strictly prohibited and the tenders submitted by bidders who resort to canvassing are liable to be rejected.
- Each page of tender document shall be signed by the authorized person of insurance company. The proof of authorization by competent authority of the insurance company in original shall be submitted with the Bid, without which the Bid shall be liable to be rejected.
- One authorized representative of the bidder can be present while opening the tender.
- The Successful bidder shall at its own cost comply with the provisions of orders and notifications issued by IRDAI and Government from time to time
- The bidder should be a registered insurer of IRDAI and proof towards the same shall be submitted along with the Bid.

The Company/ Agency should also furnish the copies of following documents in addition to the documents mentioned in the tender document:

- 1. IRDAI Accreditation Certificate
- 2. List of Government/Semi-Government/ Govt. of India Undertaking/Autonomous Body or Private Body for which such Insurance Scheme has been provided along with the proof
- 3. A dummy copy of Insurance policy with detailed terms and conditions.

#### 2 Bid Validity

Bid shall remain valid for a period of **Ninety days** from the date of opening of the bid. The bidder shall not be entitled to modify, vary, revoke or cancel his bid during the said period. The validity of the bid may be extended with the consent of the bidder as and when required for the period as requested by TNRDC in writing.

- Correction fluid is not allowed to be used. In case there is any correction, the Bidder shall score out the same neatly and put his signature and stamp with date near the place of each correction.
- Each page of the bid shall be signed by authorized person. Bidder should ensure that the quoted prices are strictly as per terms and conditions of TNRDC and as per guidelines of IRDAI.
- The Bidder shall quote their annual premium amount for each item in the Price Bid. Also, the bidder shall quote the GST and the total amount of annual premium. The details of assets covered under Section-I of the Priced Bid and the sum insured is provided in the Annexure – I&II.

#### 3 Rejection of the Tender

- TNRDC reserve to itself full rights to reject any or all the tenders without assigning any reasons whatsoever.
- TNRDC reserves the right to accept or reject any tender in part or full without assigning any reason whatsoever.

Submission of false or incorrect information, history of delayed settlement of claims, reports of unprofessional conduct, among other things, shall be sufficient grounds for disqualification of the bid.

#### 4 Bidder's Responsibility

- Although all details presented in this bid document have been compiled with all reasonable care, it is the bidder's responsibility to ensure that the information provided is adequate and clearly understood.
- It is the responsibility of the bidder on the quote offered by them and relief or consideration cannot be given for error/omissions.

#### 5 Bid Clarification/Amendments by TNRDC

Any clarifications with regard to the bid document may be obtained from the officer inviting tender of TNRDC

- TNRDC may issue clarifications/amendments in the form of addendum/corrigendum during the bidding period. Bidders shall take such addendum and corrigendum into consideration while submitting their bids.
- Any value additions suggested by the Insurer should be provided in a separate section and financial implications thereof should be shown separately. TNRDC reserves the right to implement such suggestions. However, for the purpose of financial evaluation, the same will not be taken into consideration.

#### 6 Confidentiality of Documents

• Bidders shall treat the bid documents and contents therein as strictly confidential.

#### 7 Currencies of Bid and Payment

Currencies for bid and payment shall be in Indian Rupees only.

#### 8 Evaluation of Bids

- TNRDC has right to reject any bid without assigning any reason.
- Evaluation would be done on the basis of the information/data provided by the bidders.

#### 9 General

TNRDC reserves the rights to call L1 bidder for negotiations to reduce the price If that bidder shall not agreeable then TNRDC reserves the right to call another bidder for negotiations.

In case of award of work to the insurance companies, they are required to issue the cover note immediately after receipt of payment of premium by cheque and the policy is required to be issued within 15 days from the date of award of work.

TNRDC has all the rights to change/alter/modify/amend/add/delete the coverage/policy terms & conditions/ Variation of sum insured etc. at the time of placement of insurance policies.

It may also be mentioned that these Bids are directly invited by TNRDC from Insurance Companies hence no commission/ brokerage/ other fees shall be paid to insurance broker/ advisor/ intermediary by the insurance companies and discount in lieu of commission/ brokerage may be passed on to TNRDC.

#### 10 <u>Law governing the Contract & Court Jurisdiction</u>

The Contract shall be governed by the Law for the time being in force in the Republic of India. The Civil Court at Chennai having ordinary Original Civil Jurisdiction shall alone have exclusive jurisdiction in regard to all claims in respect of this Contract.

## **Eligibility Criteria**

Technical Requirements	Complied Yes / No.	Supporting documents to be enclosed. Yes/No
IRDAI Accreditation Certificate		
Adequate experience in providing General Insurance during past 10 years		
Tender documents duly signed on each page		
A dummy copy of General Insurance policy		

#### Certificate in respect of price bid

It is certified that the rates quoted by us in the price bid relating to the tender no. TNRDC/CD/010/2022 are strictly as per price bid and in accordance with the terms and conditions. We also certify that rates have been quoted after taking prior approval of competent authority for the period of 12 months from the date of commencement of insurance policy.

DATE

PLACE Authorized Signatory

It is certified on behalf of	 •		company) ff/ approval
DATE			
PLACE	Aut	thorized Sig	natory

# Standard Fire and Special Perils Insurance Policy for Road, Bridges, Public Liability & Burglary for ECR project (Km: 22/300 to Km: 55/800) for one year

## **PRICE BID**

S.No	Description	Property Insured	Sum Insured (Rs)	Period of Insurance	Premium Amount/Annum (Rs)
1	Section I - Insurance for standard Fire & special perils policy & Earth quake (Fire & shock) - East Coast Road from Km:22/300 to 55/800 (Akkarai Jn to Mahabalipuram)	Bridges & Roads	175.00 Crores	12 Months	
2	Section II - Burglary - East Coast Road from Km:22/300 to 55/800 (Akkarai Jn to Mahabalipuram)	Sign boards	35.82 Lakhs	12 Months	
3	Section III - Public liability		5 Crore	12 Months	
			То	tal Amount (Rs.)	
				GST	
		Grand T	•	SST and all other cable Taxes) Rs.	

Rupees	SO	nly

The prices should be quoted inclusive of GST and all other applicable taxes if any and strictly adhering the coverage, excess, terms and conditions etc. Lesser Amount shall prevail in case of difference of amount between figures and words.

#### Note:

- All terms & conditions as stated in the Tender Document.
- Conditional bids are not acceptable.
- Bids submitted in the above format is only acceptable

M/s. Tamil Nadu Ro	oad Development Company Lim	ited
East Coast Road from I	Km:22/300 to:55/800 (Road and Br	ridges)
Section	Property Insured	Sum Insured
Section 1 - Fire & Allied Perils Including Earthquake (Fire & Shock) & Accidental Damage	Contents as per specification - I attached	1,749,996,256.00
Section Ií - Burglary	Contents as per specification - II attached	3,581,134.00
Section III- Public Liability Policy		5 Crore

.

Specification | Specification | I. Roads - East Coast Road from Km:22/300 to 55/800 (Akkari to Mahabalipuranı)

SN	ltem	Quantity	Unit	Rate Rs	Sum insured in (Rs.)
	Road Pavement -Wet mix macadam, Dense Bituminous Concrete, Bituminous concrete - Km:22/300 to 55/800	000009	Sqm	1350	814050000
2		12	12 Nos	15303	183636
3	Destination 1500mm x 950mm	8	8 Nos	15922	127376
4		113	13 Nos	8040	908520
5		55	55 Nos	8040	442200
9		4	Nos	8040	32160
	Facility sign 800mm x 600mm	121	Nos.	8040	136680
8	8 Route marker NH/SH Signs with definition plate	•			
]	ot size 300 x 250mm	QL QL	16 Nos	4362	26/69
6	Cautionary signs triiangular 900 mm	166 Nos	Nos	4362	724092
10	10 Mandatory sign - Circular 600mm dia	72	72 Nos	6163	443736
· ±	1.1 Stop sign - Octagon 900mm height	16	16 Nos	7250	116000
12	12 Give way sign - Triangular 900mm	91	91 Nos	4362	396942
13	13 Traffic signals	20	20 Nos	49533	099066
14	14 Metal beam crash barrier	17000 Rm	Rm	2548	43316000
16	15 Kerb wall Service road	16970 Rm	Rm	848	14390560
16	16 Blinkers with Solar PV Panel	8	8 Nos	54177	433416
17	17 Passenger shelter	47	47 Nos	278622	13095234
18	18 Street light pole 6m height with accessories	129	129 Nos	42000	
18	19 Street light pole 14.5m height with accessories	253	253 Nos	82000	
20	20 Highmast light 30m height with accessories	40	40 Nos	475000	19000000
2.	21 Metering panel	25	25 Nos	142074	3551850
2.	22 EB Distribution panel	25	25 Nos	60952	1523800
2;	23 High mast lighting and installations	3	3 Nos	686975	2060925
24	24 Gantry - Km:22/300 to 55/800	16	16 Nos	290000	9440000
2	25 Unipole - Km:22/300 to 55/800	3	3 Nos	530000	1590000
26	26 Drainage and protective works				45083450
2.	27 Box / Slab Culverts				62174645
2	28 Road marking, delineators and studs and KM, HM Stones				24612744
ب <u>ن</u> 	29 Centre median wall and Divider wall Service road				126164918
				Total Amount, Rs.	1,211,223,336

Page 1 of 2

0
55/800
$\infty$
<u> </u>
120
-
0
0 to
0
0
က
N
N
- 12
Ξ
V
from Km:22/300
⊏
≂
۲
4
Coast Road
<i>-</i> 100
O
œ
-
Ġ
a
0
C
East (
ŝ
लं
Ш
_
Ś
<u>e</u>
0
0
-
$\mathbf{\omega}$
. Bridges
-
-

	\	7	\		1			17E C 200
Sum insured in (Rs.)	97.949.619.00	9.233.950.00	11.849.478.00	146,049,286.00	273,690,587.00	538,772,920.00	1,749,996,256.00	175
Overall Length (m)	323.00	40.60	52.10			Total Amount, Rs.	Grand Total, Rs.	VER
Туре	High Level (Girder)	High Level (Girder)	High Level (Girder)	Minor Bridges	Dual Two lane Bridge			ě
Location of Bridge	Km: 32/700	2 Km : 54/700	3 Km : 54/900	4 Km:34/879 (21m), 35/000(21m), 35/671(9.5m), 54/712(43m), 54/945(52.50m)	5 Km:32/832			
S.No		2	8	4	5			4

1 Insurance for standard Fire & special perils policy 2 Earth quake (Fire & shock)

Specification - II I. Roads - East Coast Road from Km:22/300 to 55/800 (Akkari to Mahabalipuram)

	-			Sum insured in (
Item	Quantity	Unit	Rate Rs	Rs.)
1 Advance direction 1500 mm x 900 mm	12 Nos	Vos	15303	183636
2 Destination 1500mm x 950mm	8	8 Nos	15922	127376
3 Place identification signs 600mm x 800mm	113 Nos	Vos	8040	908520
4 Bus lay bay signs 600mm × 800mm	55 Nos	Vos	8040	442200
5 Toll booth ahead signs 600mm x 800mm	4	4 Nos	8040	32160
6 Facility sign 800mm x 600mm	Nos	Vos	8040	136680
7 Route marker NH/SH Signs with definition plate	-			
of size $300 \times 250$ mm	16 Nos	Vos	4362	69792
8 Cautionary signs triiangular 900 mm	166 Nos	Vos	4362	724092
9 Mandatory sign - Circular 600mm dia	72 Nos	Vos	6163	443736
10 Stop sign - Octagon 900mm height	16 Nos	Vos	7250	116000
11 Give way sign - Triangular 900mm	91 Nos	Vos	4362	396942
			Total Amount, Rs.	3,581,134
			Say	35.82 Lakhs